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Stan 

Gaz 
 

Para- 
metry  

Ar 
90% Ar + 
10% H2 

CO2 N2 Powietrze He H2 

I, A 290 296 262,5 279 280 384 142 
A 

δr 0,984 0,925 0,963 0,845 0,956 0,878 0,469 

I, A 340,5 481 392,5 449 430,4 844 355 
B 

δr 0,987 0,967 0,977 0,907 0,974 0,949 0,665 
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Gaz 

Para- 
metry 

Ar 
90% Ar + 
10% H2 

CO2 N2 Powietrze He H2 

Tr, K 2514 2862 2578 4140 2817 3709 3103 

η(Tr),  
10–4 Pa⋅s 

1,055 1,1473 0,8255 1,186 0,9436 1,359 0,4848 

Sr, kW/m 0,1152 0,416 0,46 0,535 0,32 2,13 4,473 

δr  0,963 0,962 0,982 0,961 0,965 0,958 0,975 
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de = 6 mm de = 5 mm de = 4 mm de = 3 mm de = 2 mm 
Stan Gaz 

I/δr  

A Ar 290A/0,984 215A/0,982 150A/0,98 93A/0,975 48A/0,967 

Ar 340A/0,987 256A/0,986 175A/0,984 108A/0,98 58A/0,975 

Powietrze 430A/0,974 315A/0,972 207A/0,968 123A/0,963 57A/0,951 B 

90% Ar + 10% H2 481A/0,967 359A/0,967 254A/0,963 158A/0,956 80A/0,942 

Gaz 
Parametry 

Hel (δr = 0,958) ��������	
���
	�δr = 0,982) 

de, mm 10 8 10 8 

IN, A 1779 1360,5 874,5 651,5 

qw, W/mm2  102,1 117,7 46,9 51,6 

qλw, W/mm2  86,6 105,5 34,7 42,0 

qεw, W/mm2  15,5 12,3 12,2 9,6 

Ta, 103 K 24,1 23,9 13,4 13,3 

E, V/m 1802,8 2175,5 1686,3 1988,6 
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��	de, mm 
Parametry 

10 8 6 5 4 3 2 

IN, A 346 246 164,5 128,5 97,5 69,5 44,0 

qw, W/mm2  8,825 8,78 9,39 10,02 11,34 13,8 18,96 

qλw, W/mm2  4,2 5,15 7,72 7,85 9,64 12,56 18,16 

qεw, W/mm2  4,63 3,63 2,67 2,17 1,70 1,24 0,8 

Ta, 103 K 12,8 12,76 12,7 12,64 12,6 12,54 12,46 

E, V/m 801,3 897,3 1076,2 1224,4 1461,2 1871,3 2707,4 
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